Numbers to 10,000

1a. Circle the letter that represents 7,280.

A B C D
7,200 7,300
1b. Circle the letter that represents 2,540.
A B C D
CTTTTTTITT T
2,500 2,600

VF

4. Some friends are describing a number
on a number line.
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<« »

5,600 6,200

The number is
more than 6,000.

-

Sam & &

~

P o
Who is correct? Explain your reasoning.

The number is
less than 5,900.

V

Isla

» ?

2. Which of the statements are incorrect?

six thousands,

6,000+ 500 + 4 < eight tens and six ones

1,000 1,000 100 1

>

100

2,353
100 100 1

Eight thousand, four

8,000 +400+50 = 1, 1dreds and five tens

VF

5. Use each digit card once to complete

the statements below.

two thousand
and thirty-three 2 7

9 >

1,000 + 300 + 40 + 4

Find five different solutions.

PS

3. Tick the sequences of numbers that
have been placed correctly in ascending

6. Travel through the maze, moving to a
larger number each time.

order. start
v
A. | 2,566 | 2,708 | 3,104 | 3,452 4,252 4,286 5,223
B. | 5,607 | 4,823 | 5,992 | 6,113 3.189 5,001 4,999
5,861 5,324 5,987
C. | 1,344 | 2,142 | 3,422 | 4,442 5,925 5022 6,663
D. | 8,921 | 9,014 | 9,221 | 9,190 6,245 6,453 6,781
v
o finish o
Classroom classroomsecrets.co.uk
secrets

© Classroom Secrets Limited 2020

Numbers to 10,000 - Prior Learning




Numbers to 10,000

1a.D; 1b. B
2. 6,000 + 500 + 5 < six thousands, eight tens and six ones;

1,000 1,000 100 1
2,353 >
100 100 100 1

3.A,C

4. Isla is correct because the midpoint of the number line would be halfway between
5,600 and 6,200, which is 5,900 and the arrow is below this.

5. Various answers, for example:

3,127 and 5,092; 5,027 and 2,391; 5,127 and 2,390; 2,127 and 3,095; 2,127 and 3,590
6.

start start
v v
4,252 4,286 5,223 4,252 4,286 5,223
3,189 5,001 4,999 3,189 5,001 4,999
5,861 5,324 5,987 or 5,861 5,324 5,987
5,925 5,022 6,663 5,925 5,022 6,663
6,245 6,453 6,781 6,245 6,453 6,781
v v

finish finish
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